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(Geometric Brownian motion) r 002 A 60
A 70 10
A 70 5
X 65 A Black-Scholes(1973)
10

exp(-0.02)=0.980, exp(0.02)=1.020, exp(-0.06)=0.942, exp(0.06)=1.062
log(60/65)=-0.0800, |0g(60/70)=-0.1542, log( 70/60)=0.1542, |0g(65/60)=0.0800
N(-0.0731)=0.4709  N(-0.5231)=0.3004  N(0.0916)=0.5365
N(-0.3584)=0.3600  N(0.548)=0.708 N(0.606)=0.728
N(-0.2343)=0.4074

S=31 X=30 r=0.1
c=3 p=1.20
10
10

exp(0.025) 1.0253 exp(0.050) 1.0513 exp(0.25) 1.2840 exp(-0.025) 0.9753
exp(-0.05) 0.9512 exp(-0.25) 0.7788



